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QUESTION 1

Identify three benefits of unified auditing. 

A. It helps to reduce disk space used to store an audit trail in a database. 

B. It guarantees zero-loss auditing. 

C. It reduces overhead on a database caused by auditing, by having a single audit trail. 

D. An audit trail cannot be modified because it is read-only. 

E. It automatically audits Recovery Manager (RMAN) events. 

Correct Answer: CDE 

 

QUESTION 2

RMAN is connected to the target database PROD1 and an auxiliary instance in NOMOUNT state. Examine the
command to create a duplicate database: 

RMAN> DUPLICATE TARGET DATABASE TO dup1 FROM ACTIVE DATABASE NOFILENAMECHECK PASSWORD
FILE SPFILE; 

Which two statements are true about the execution of the DUPLICATE command? 

A. All archive redo log files are automatically copied to the duplicate database. 

B. The duplicate database has the same directory structure as the source database. 

C. The duplicate database is created by using the backups created during the execution of the DUPLICATE command. 

D. The password file and SPFILE for the duplicate database DUP1 are created in their respective default locations. 

E. The duplicate database is created without using RMAN backups and PROD1 is allowed to remain open during
duplication. 

Correct Answer: AE 

 

QUESTION 3

Because of logical corruption of data in a table, you want to recover the table from an RMAN backup to a 

specified point in time. 

Examine the steps to recover this table from an RMAN backup: 

1.Determine which backup contains the table that needs to be recovered. 

2.Issue the recover table RMAN command with an auxiliary destination defined and the point in time 
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specified. 

3.Import the Data Pump export dump file into the auxiliary instance. 

4.Create a Data Pump export dump file that contains the recovered table on a target database. 

Identify the required steps in the correct order. 

A. 1, 4, 3 

B. 1, 2 

C. 1, 4, 3, 2 

D. 1, 2, 4 

Correct Answer: D 

Because according to oracle PDFs if you run restore table ... auxiliary a impede and rename can be included. So there
is no reason to make the import manually if it can be already included in step 2. Reference:
https://docs.oracle.com/database/121/BRADV/rcmresind.htm#BRADV689 

 

QUESTION 4

Examine the command: 

$expdp SYSTEM FULL=YES DUMPFILE=dpump_dir1:fulll%U.dmp, dpump_dir2:full2% U.dmp, 

dpump_dir3:full3%U.dmp FILESIZE=400M PARALLEL=3 JOB_NAME=expfull 

Which statement is true about the execution of the command? 

A. It fails because the log file parameter is not specified. 

B. It fails because no absolute path is specified for the log file and dump file. 

C. It succeeds and exports the full database, simultaneously creating three copies of dump files at three different
locations. 

D. It succeeds and exports the full database, simultaneously creating three dump files at three different locations, but
the total number of dump files can exceed three. 

Correct Answer: D 

It can create more than 3 files because you say that each file has a maximum of 400 MB. For example in my export that
had 1,2 gb it created 4 files. %u makes 01, 02, 03 and so on. 

 

QUESTION 5

Which two statements are true regarding SecureFile lobs? 

A. The amount of undo retained is user controlled. 
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B. They can be used only for nonpartitioned tables. 

C. Fragmentation is minimized by using variable-sized chunks. 

D. They support random reads and writes of encrypted LOB data. 

Correct Answer: CD 

References: http://docs.oracle.com/cd/E11882_01/appdev.112/e18294/adlob_smart.htm#ADLOB46 
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